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Q Questions Marks | RBT | COs
N
PART A
l|aDerive an expression for gauge factor for Bonded resistance wire] 10 L3 | COS5
Strain Guages.
bWith neat block diagram,explain the operating principle of a dual 8 L2 | CO4
slope integrating type DVM.
c|Find the equivalent parallel resistance and capacitance that causes a 7 L3 | CO4
Wien bridge to null with the following component values:
R1=3.1kQ,C1=5.2uF,R2=25kQ,{=2.5kHz, R4=100k2
OR
2/allf the three arms of a wheatstone bridge have the resistances 6 L2 | CO4
R1=2KQ ,R2=10KCQ and R3=40KQ.Find the unknown resistance.
bExplain the operation of instrumentation amplifier using transducer 9 L2 | COS5
bridge with the help of circuit diagram.
c/[Explain an unbalanced wheatstone bridge -circuit.Determine the, 10 L3 | CO4
amount of deflection due to unbalance of wheatstone bridge.
PART B
3|a/Explain with neat diagram the PLC structure. 8 L2 | COS5
bExplain the construction,principle and operation of LVDT.Show| 10 L2 | COS5
characteristics curve.
c/State and derive the expression for capacitance comparison bridge at| 7 L3 | CO4
balance equation.
OR
4 aBriefly write a note on : 1)Resistive Position Transducer 8 L2 | CO5
i1) Thermistor
bDiscuss the operation of Successive approximation type DVM with| 10 L3 | CO4
the help of block diagram.
c/Define transducers.What are advantages of electrical transducers. 7 L2 | COS5
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